NAME

Practice

Applications of Linear Programming
Solve.

1.

The area of a parking lot is 600 square meters. A car requires
6 square meters. A bus requires 30 square meters. The
attendant can handle only 60 vehicles. If a car is charged
$2.50 and a bus $7.50, how many of each should be accepted
to maximize income?
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The cost to run Machine 1 for an hour is $2. During that
hour, Machine 1 produces 240 bolts and 100 nuts. The cost

to run Machine 2 for an hour is $2.40. During that hour,
Machine 2 produces 160 bolts and 160 nuts. With a combined
running time of no more than 30 hours, how long should
each machine run to produce an order of at least 2080 bolts
and 1520 nuts at the minimum operating cost?
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